
Visit our site
Please
Recycle

All-Metal Farmland Feeder
Assembly Instructions

PERDIXWildlife Supplies. Unit 1 Hatton Rock Business Park,
Hatton Rock, Stratford-Upon-Avon, CV37 0BX. UK

Tel: +44 (0)1789 336123 www.perdixwildlifesupplies.com

C
O
N
T
E
N
T
S BODY& LID PORTS X 3 GASKETS X 3RAIN PEAKS

X 3

PORT GUARDS X 3

12mm Pan Head M5 Screws X 6

60mm Pan Head M5 Screws X 3

12mm M5 Thumb Screws X 2

M5 Wing Nuts X 3

POSTMOUNT

2 Insert the 60mm pan head
screw from the inside out and
the place the port with
gasket onto the screw and
into the hole. Then attach the
port guard andwing nut.

3 Fully tighten thewing nut
until until the port and guard
are a nice solid fit. Then
repeat the process for the
remaining ports.

4 Using the 12mm pan head
screws attach the rain peaks
to the body.
It is optional to fit the rain
peaks, if not fitted please
ensure the pan head screws
are screwed fully into the
rivet nuts.

1 Fit the feeder port gaskets to
the port. These have one side
that is self adhesive. The
adhesive is optional but if you
would like to use it simply
peel off the backing from the
gasket.

5 The post mount has 4 screw
holes to fix to a post orwall.
Please use fixings of your
choice for this. We
recommend placing the
feeder at a height so you can
refill it without taking off the
mount.

Secure the lid and post
mount base to the feeder
with the two thumb screws
provided.


